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1. % |
N—IREHFTE(HA)
% A
5 g SHIBEE SHAEE
FEHE | Bt FEE | #gak [dEnek
1.t B 7,946,610 28.4 8,422,693 27.7 6.0
2. vl = 5 B 249,785 0.9 262,300 0.9 5.0
3. # F oo oz & % 4,700 0.0 4,200 00 A 106
4 B = 2 % #+ % 15,700 0.1 15,800 0.1 06
MR EERS B XM S 11,900 0.0 23,400 0.1 96.6
6. A T %2 B X H £ 60,500 0.2 91,600 0.3 51.4
T K K OB OB X A £ 1,322,907 4.7 1,573,900 5.2 19.0
8.3 )L 7 B R B B X & 2 42,600 0.2 50,600 0.2 188
BB EHRBEMEDXNS 14,300 0.1 26,300 0.1 83.9
10 EERUERERETIRNBRZ £ 573,908 2.1 587,524 1.9 24
M 5 H @ % & £ 129,275 0.5 45,600 02 A 647
12. 5 % 1+ B 5,139,000 18.4 5,806,000 19.1 13.0
BExBELZL2ATERENXTH £ 8,800 0.0 11,000 0.0 25.0
144 B £ R U & # 2% 100,227 0.4 98,744 03 A15
5.6 B B R U F #H 640,897 2.3 934,120 3.1 458
16. = % H & 4,903,224 176 5,878,528 19.4 19.9
17. 38 % H & 2,373,268 8.5 2,499,120 8.2 5.3
18. &t 5 Iy A 19,799 0.1 21,222 0.1 7.2
19. %% B & 510 0.0 510 0.0 0.0
20. 42 A & 1,333,898 48 2,093,472 6.9 56.9
21. 42 i & 112,484 0.4 115,628 0.4 28
22. 5% Iz A 304,208 1.1 365,339 1.2 20.1
23. ™ = 2,670,500 9.2 1,410,400 46 A 451
% A = B 27,879,000 100.0 30,338,000 100.0 8.8
% H
B g SHREE SH4EE
FEE | Bk FEE | #gRk | demEk
1. & = z 187,681 0.7 187,106 0.6 A 0.3
2. % 7 & 2,634,545 94 3,469,084 114 31.7
3 B o Z 10,574,401 38.0 11,193,051 37.0 5.9
4. 1 o = 1,859,841 6.7 2,190,614 7.2 17.8
5 % & & 18,179 01 20,111 0.1 10.6
6. B o 7K B * & 510,469 1.8 312,797 1.0 A 387
7. 75 T Z 510,019 1.8 435,458 14 A 146
8. = N & 3,096,324 11.1 3,937,859 13.0 27.2
9. H 3] & 252418 0.9 221870 07 A 121
10. % 5 & 1,954,490 7.0 1,869,672 6.2 A 43
1. % = 0] |5 & 2 0.0 2 0.0 0.0
12. & & 2471170 8.9 2,710,871 8.9 9.7
13. B = & 3,804,461 13.6 3,784,605 125 A 05
14. % 1% % 5,000 0.0 5,000 00 00
% & = B 27,879,000 100.0 30,338,000 100.0 8.8

(BHH RF M B =R BER
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2)EN=EHFE(E)

OEERERR
- SHISEE SHAEE

yEE | #Hk FE%E | #Hk | EER
1. R & & & B B 1,133,299 17.0 1,125,750 163 A 07
2. & % H & 4,858,754 73.1 5,108,619 73.9 5.1
3. 18 A & 647,522 9.7 666,478 96 29
4 18 A & 1 0.0 1 00 0.0
= ijg A 12,291 0.2 12,389 0.2 08
% A & 6,651,867  100.0 6,913,237 1000 39
1. 4 # % 146,994 2.2 206,569 30 405
2. {7 B S f % 4,761,915 716 4,951,813 716 40
CEEREEBRELXEML S 1,615,649 243 1,617,998 234 0.1
4% B T X B oK % 2 0.0 2 00 0.0
5. % 2 = ES % 71,605 1.1 69,022 10  A36
6. 3% % H & 22,690 0.3 34,823 05 53.5
7.4 & % 33,000 05 33,000 05 0.0
8. % 1% % 10 0.0 10 00 00
O BERELLESL N E % 2 0.0 0 0.0 EE
% H & 6,651,867  100.0 6,913,237 1000 39
(ER) KT ER L 75 E A B R (A FH. %)

QLB EER

B oo SIS SHAEE

FEE | #E FE%E | #Hk | dEiEk
BB EERRRBAY 793,921 74.0 838,082 73.3 56
2. 4% A & 276,186 25.7 302,187 26.4 9.4
3. 18 oA & 1,100 0.1 1,000 0.1 A 91
4 % ijd A 1,701 0.2 2637 0.2 55.0
% A & £t 1,072,908  100.0 1143906 1000 66
1.4 % S 61,257 57 72,258 6.3 18.0
2 RHEBEERLKEEAMLS 1,009,851 94.1 1,069,548 935 59
3. 5% % H & 1,700 0.2 2,000 0.2 176
4% 1 % 100 0.0 100 00 00
% H & 1,072,908  100.0 1143906 1000 6.6
(ERL) S 75201 75 = A B R (BAT:FM. %)

-132-



5 g SHISE & SHAEE
>EmE | #u >amE | Bk | genEk
TN #Z B B W 1,013,410 20.7 1,030,400 20.1 1.7
2 s H 4 1,089,048 223 1,166,176 22.8 71
3 & % H & 691,340 14.2 721,313 141 43
4. % H x 4 & 1,227,554 25.1 1,295,325 25.2 55
5. Bt E e A 362 00 363 0.0 03
6. & A & 862,251 17.7 909,649 17.8 55
7 4@ # & 1 0.0 1 0.0 0.0
O i A 50 00 0 0.0 Hegd
5 A & 4884016 1000 5123227 100.0 49
1.4 % & 165,527 34 155107 30 A 63
2. B O & B 4,266,718 87.4 4515941 88.2 58
3y B X B OE % OB 440,272 9.0 439,092 86 A 03
LE & B O OI % 362 0.0 363 0.0 03
5 % % & 11,037 0.2 12,624 0.2 144
6. % 1 - 100 0.0 100 00 0.0
5 H 2 4884016 1000 5123227 100.0 49
(B B SR R (Bh7 : TH. %)
@i RKEEEEYE
5 g SHISE & SHAEE
>Eam | B >amE | #mk | sinEk
1. 48 A % 123223 1000 68.660 977 A 443
2% i A 1 00 1615 23 S 1o
% A & 123224 1000 70.275 1000 A 430
1+ #h K B & 18 =5 % & 58167 472 1645 23 A 972
I & = 65,057 52.8 68,630 97.7 55
% H & 123224 1000 70.275 1000 A 430
(B B SR BEE (Bfr : TH. %)
@ iIEEE
& g PR STAEE
FEmE | ERk TEHE | #Hik | 8EEk
1. 4% A % 20,440 1000 513 1000 A 975
% A & 20440 1000 513 1000 A 975
T & £ 20,440 1000 513 1000 A 975
% A 20440 1000 513 1000 A 975
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OEXREEYINEEE

5 g SHIEE SHAERE

yE5E | #Ek Fam | Bk | dErek

L E A B B & F % ¥ 161,093  55.5 0 0.0 B
2 & % H & 98 0.0 0 0.0 B
3. Bt E i A 51 0.0 0 0.0 o
4 4 A & 104,300  36.0 0 0.0 o
b. % i) A 8, 058 2.8 0 0.0 B
6. T % 16, 500 5.7 0 0.0 B
% A & 290,100  100.0 0 0.0 B
1. & ¥ W B T % B 176, 874 61.0 0 0.0 L
2. 2 f& - 113, 226 39.0 0 0.0 B
5% H & =t 290,100  100. 0 0 0.0 B

(BH) MBEHMBEMBER
X)) EXREDUEEXEFRNRFORLCHD, BEFRE—MIEFFTHLLTOET,

(B T %)

(Y5
& g SHIEE SHAEE

¥ Em | Bk ¥ EE | Bk | deek
L B H B O F % ¥ 29, 805 46. 4 23 975 26.9 A 19.6
2. Bt E i A 53 0.2 39 0.0 A 264
3. i A & 49, 999 52.2 64, 752 72.9 29.5
4 % ij A 200 1.2 200 0.2 0.0
% & 80,057  100.0 88 966  100.0 1.1
1. = = £ 52,196 65. 2 52 365 58 9 0.3
2. A 3 2 27, 861 34.8 36, 601 4.1 31.4
% H & 80,057  100.0 88 966  100.0 11 1
(BR) HFEELE 7= Brag (B TH., %)

O Ey

5 = SHIEE SHAEE

¥ a5 | Bk ¥ E 5 | Bk [ daEk
L B ® B ¢ F % % 36,533  100.0 40,429  100.0 10. 7
B A & =t 36,533  100.0 40,429 100, 0 10. 7
1. B = i T % 7 35, 432 97.0 40, 429  100.0 141
o N 1 & 1,101 3.0 0 0.0 e
% H & =t 36,533  100.0 40,429 100, 0 10. 7

(BH) HBIMB=EM I

B
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3) KEEXRHTE (44D

@ [N AFHI U X (BiA)
n g SHREE SHAERE
FEHE | Bk FEE etk | xarak
1. = ES I #* 1,615, 358 96. 0 1,591, 498 96. 2 A 1.5
- N 66, 780 4.0 62, 122 3.8 A 7.0
Iz & =t 1,682,138 100.0 1,653, 620 100. 0 A7
1 & S =] 1,475,116 98. 1 1,489, 915 98. 4 1.0
2B % £ B 26, 200 1.7 21, 052 1.4 A 19.6
3 4 31 ] % 1,000 0.1 1,000 0.1 0.0
4 F & % 2, 000 0.1 2, 000 0.1 0.0
% t & =t 1,504,316  100.0 1,513, 967 100. 0.6
(BEfz : FHE. %)
@ EARNINE (BiA)
n g SHIBEE SHAEE
FEE | Bk ¥ & % etk | xaTak
S ES & 178,900 92.8 290, 000 88.7 62. 1
2. H & & 13,900 7.2 36, 900 1.3 165. 5
3 & 1 & 0 0.0 0 0.0 0.0
4 18 & - - - - -
Iz A & = 192,800  100.0 326, 900 100. 0 69. 6
L2 % % B = 656, 093 79.0 664, 516 79.2 1.3
2 % @& @B B £ 172, 629 20.8 172,572 20. 6 0.0
3 F 1 % 2, 000 0.2 2, 000 0.2 0.0
% H & =t 830,722  100.0 839, 088 100. 0 1.0
(B KERREEER (BEfz : FH. %)
4) TREEXLKHTE (49D
@ [N AFHI U X (BiA)
2 g SH3EE SHAEE
FEE | #an ¥ E 5 Bkt | gk
1 & ES % % 1,728, 837 62. 4 1,705, 235 60. 9 A4
208 ¥ 8 W % 1,043, 527 37.6 1,096, 587 39.1 5.1
3 4 31 I % 1 0.0 0 0.0 A 100.0
Iy & =t 2,772,365  100.0 2,801, 822 100. 0 1.1
1. = ES & =) 2, 360, 749 92. 1 2,457,158 92.9 4.1
2% % 4 7 B 198, 758 7.8 186, 175 7.0 A 6.3
3 4 31 # % 1,010 0.0 1,010 0.0 0.0
4 % 1% %= 2, 000 0.1 2, 000 0.1 0.0
% o B =t 2,562,617  100.0 2, 646, 343 100. 0 3.3
(Bf - FE. %)
@ EAHINZ (BiA)
2 5 EYRETES SHAE R
¥ EE | Bk ¥ 85 BRE | danEk
S ¥ & 701, 300 62. 9 743,500 64. 2 6.0
2. % B & 297, 400 26.7 303, 200 26.2 2.0
3 & i H OB O£ 112, 363 10. 1 109, 726 9.5 A 2.3
4 & 1 & 964 0.1 0 0.0 A 100.0
5. 4 1 & 2,385 0.2 2,233 0.2 A 6.4
6.k 1t & F %A 260 0.0 390 0.0 50. 0
7. % 1% & - - - - -
I A . = 1,114,672 100.0 1,159, 049 100. 0 40
T2 & ©w B E 1,067, 080 52. 8 1,066, 313 53.3 A 0.1
2 f % & B & % 950, 640 47. 1 931, 821 46. 6 A 2.0
3Kk % bt & &4 = £ B 260 0.0 390 0.0 50. 0
4 & i & 273 0.0 0 0.0 A 100.0
5. % 1% % 2, 000 0.1 2, 000 0.1 0.0
% tH . =t 2,020,253 100.0 2, 000, 524 100. 0 A 1.0

EE) KERE e A
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2. & =}
1)—astr&E
7% A
B g SHTEE SHEE
e | EE e | #EE
1.7 B 8,249,579 272 8,266,423 218
2 s vl = 5 B 058,754 0.9 260,091 0.7
3SH 0 F oz X & % 5,624 0.0 6,638 0.0
4.7 04 & F & 18,257 0.1 16,097 0.0
B R EEERE XA S 11,849 0.1 19,658 0.1
6.5 A BT %2 B xR f# % - - 38,283 0.1
T B M B OB X O £ 1,256,668 41 1,548,466 41
8.3 L T B F OB B X A % 68,340 0.2 44,139 0.1
CEHEMBEMSERED XM S 8,127 0.0 17,646 0.0
10. B AR EEREMEHE AR 4 588,153 1.9 629,523 1.7
M A % @ % f# 2% 131,887 0.4 79,540 0.2
12. # vl 3 fF B 5,323,039 17.6 5,278,279 13.9
BWRxBEBRLETERNX G 8,472 0.0 10,107 0.0
4.4 # 4 R U & # % 163,268 0.5 118,250 0.3
5.6 B # R O F #%H 564,074 1.9 574,184 15
16. s % H & 5,356,173 177 13373011 353
17. & % H & 2574210 85 2147568 57
18. Bf B 1) A 96,014 0.3 71,297 0.2
19. % Bt & 785,843 26 1,177,330 3.1
20. 4@ A & 1,075,880 35 1,232,141 33
21. 4@ 2] & 659,396 22 574,705 15
22 % i) A 556,777 1.8 539,952 14
23. ™1 & 2,535,839 8.4 1,886,017 50
OB ® & W & # % f % 28,141 0.1 - -
B A & = 30,324,364 1000 37,909,345 100.0
58 SHTEE SHEE
REEE | AL sREEE | B
1. & = & 175,873 0.6 180,913 0.5
2. % % = 2,899,421 98 12,702,365 344
3 B =t = 10,022,835 34.0 10,156,718 275
4. & A& & 2,604,791 8.8 1,671,906 45
5. % @ - 23,675 0.1 17,736 0.0
6. 2 o 7K = E & 1,080,015 3.7 418,781 1.1
7.5 T = 1,468,102 50 1,075,825 29
8. = /N = 2794124 95 2,727,307 74
9. ¥ 93] = 159,778 0.5 205,782 0.6
10. 2 5 = 2,086,945 7.1 1,726,524 47
11, 5% = & I= % 0 0.0 0 0.0
12. N & = 2,310,797 79 2,356,933 0.4
13. B =] = 3,836,849 13.0 3,695,608 10.0
14. % 1 % - - 0 0.0
" _ H & 5 29,463,205 100.0 36,936,398 100.0
(B ) AT o 15 = B el (B 4z T M. %)
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2)RBIRETRE

OEERERR
% B SHITTAEE SHI2EE
s EE | #Hn cEE | g
1. R & B & KB B 1,146,096 174 1,193,541 183
2.8 53 H o 4796,518 72.8 4615,561 71.0
3. & A & 633,343 9.6 640,943 99
4. & g A 15,768 0.2 12,5556 0.2
5. B 53 H & 1,308 0.0 35,835 0.6
x A = B 6,593,033 100.0 6,498,435 100.0
1. % 7% & 139,137 2.1 146,828 2.2
2. 1% p& A £F = 4,694,742 69.8 4417529 67.9
SERERARREXEMML S 1,606,393 23.9 1,646,963 253
4% B OB X B OB % 1 0.0 1 00
P BRELE SR H 4 - - 4 00
6. £ Jicd = * & 59,714 0.9 56,595 0.9
1. 3% * H o 49,072 0.7 75,777 1.2
8. N & =y - - 34,000 05
O & E B8 £ £ B 4 173,050 26 129,076 20
% H & =t 6,722,109 100.0 6,506,773 100.0
(BER) RF DA TS = B TR (BAZ:FF. %)
QLB EER
3 B SHITEE SHI2EE
s EfE | #Hk cEE | BRk
B B EERRRBRN 726,511 74.3 775,137 746
2. & A & 234,124 240 245,390 23.6
3. #& i & 15,368 1.6 17,614 1.7
4. & I A 813 0.1 1,060 0.1
5 F | * H & - - 199 0.0
% A & 2t 976,816 100.0 1,039,400 100.0
1. %% 7% E=y 42,995 45 42,962 42
2. Y EmEERLABESMANE 915,369 954 974,875 95.7
3. % * H & 846 0.1 1,060 0.1
% H & 2t 959,210 100.0 1,018,897 100.0

(R B HU B =M BER
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£ SHITEE SHEE
kg | #Eek g | #e
1. * (£ i3 P 999, 038 21. 8 994,138 21.0
2. B % H & 996, 183 21.8 1,030, 218 21. 8
3. & fan} & 614, 363 13. 4 659, 438 14.0
4. % #H H T O & 1, 091, 848 23.8 1,171,596 24. 8
5 Bf v} A 106 0.0 74 0.0
6. #¢ A & 734, 856 16. 1 796, 110 16. 9
7. #& i & 140, 341 3.1 72, 306 1.5
8. & ljrg A 219 0.0 b2 0.0
4 A = 5 4,576, 944 100.0 4,723,932 100.0
1. #& % & 161, 769 3.6 159, 470 3.4
2. & i3 el fF & 3, 810, 252 84. 6 4,087, 237 87.0
A B X B OF X B 381, 976 8.5 379, 393 8.1
4. EH i & hva & 89, 632 2.0 48, 510 1.0
b. * H & 61, 009 1.3 24, 411 0.5
54 H = 5 4,504, 638 100.0 4,699,021 100.0
(BH) BIEMEAE =R (BEfz : TH. %)
O HREREEY
£ g SHITEE SHEE
kg | #Eek g | #eu
1. B * H & 127, 832 40. 2 104, 224 37.7
2. 1% A & 69, 303 21.8 61, 303 22.2
3. 1% i & 5, 495 1.7 99, 500 36.0
4. ™ =1 115, 400 36. 3 11,175 4.1
5 Bf P N A - - 66 0.0
= A = 5 318, 030 100.0 276,268 100.0
. XK | B 1B 5 £ & 264, 022 86. 0 222, 850 80. 7
2. N & = 42, 833 14.0 b3, 418 19.3
= H = g 306, 855 100.0 276,268 100.0
(BH) BB B B CEELENED)
@IS EE
5 g ST ST
B | Bk R B8 | #BRk
1. #& A & 56, 783 100.0 36, 809 26. 4
2. ™ & - - 102, 600 73.6
= A = g 56, 783 100.0 139,409 100.0
. # EHR #& F ¥ & - - 102, 692 73.7
2. N & = 56, 783 100.0 36, 717 26. 3
I3 = 5 56, 783 100. 0 139,409 100.0

H =l
TR HD BT 75 = BT IBGaE
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OEXREEYIEEE

5 5 SHTEE SH2EE
e | #Ek cEdE | Bk
1.5 A B k& U F #H #H 88,746 19.8 156,343 67.9
2 & % H & 111 0.0 123 0.0
3. Bf E i) A 22 0.0 13 0.0
4 % A & 4918 1.1 42,341 18.4
5. % Iy A 27,525 6.1 31,666 13.7
6. M & 327,900 73.0 0 0.0
% A =) z 449,222 100.0 230,386 100.0
1. E ¥ N 1B F X # 405,531 90.3 157,455 68.3
2. N & & 43,691 9.7 72,931 31.7
I H = 5 449,222 100.0 230,386 100.0
(BE) BEMHBEE MR (Bf7 : T, %)
(3
5 5 SHTTEE SH2EE
e | #Ek cEd | Bk
1. B # kX v F #H ¥ 27,959 39.5 16,683 39.3
2 Bt E i) A 20 0.0 11 0.0
3. #& A & 41912 59.1 25,734 60.7
4, % i) A 990 14 0 0.0
I3 A =) g 70,881 100.0 42,428 100.0
1. & = S E=y 69,253 97.7 40,733 96.0
2. 1 - 1,628 23 1,695 4.0
% H & B 70,881 100.0 42428 100.0
(BH) MRIEERE 5 =R R (Bf7 : TH. %)
O HigEY
5 g SHITEE SHEE
SR E %8 | #mk rEHE | Bk
1.5 B # kX © F #H ¥ 48,534 97.2 35,037 96.4
2. %% A & 1,376 28 1,319 3.6
B A & B 49910 100.0 36.356 100.0
1. B = 15 = S & 42,248 84.6 28,701 78.9
2. 1 = 7,662 15.4 7.655 211
= H é_ g 49910 100.0 36,356 100.0
(BF) FaT5 Rl 7% 2= B I (87 TH. %)
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3) mMAEME

(BREERBE)

B > = BMEES [HEICL2HER
F K T # (m) 2 Hm (m) B #EEFR | & £(FMD () ()
SERR294F 4,634, 731. 07 258, 909. 02 77,187 4,513,471 386, 100 1,739, 539
30 4,661, 050. 16 255, 428. 57 71,760 4,700, 655 386, 100 1,739, 639
SHTE 4,729, 191. 61 254, 169. 09 66, 380 4,789, 467 386, 100 1,739, 539
2 4, 805, 150. 28 257, 909. 47 6, 160 b, 661, 152 382, 100 1,682, 839
3 4,799, 814. 39 256, 983. 64 126, 200 6, 450, 754 382, 100 1,682, 839

(B HRBHHMBEERM - ZHR
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4) KEBRRFRE

@ AR (FiaA)
5 5 SHTTEE SHEE
s | Eik sEm | gk | dEEk
1B ES Iy 1,699,799 95.8 1,641,152 96.0 26
2.8 % 5 W 70,584 4.2 68,731 4.0 A 26
3 % 31 Gl 34 0.0 8 0.0 A 76.5
Iy A & 1670417  100.0 1,709,891 100.0 24
1 E ES % 1,453,897 96.8 1,451,522 97.7 A 0.2
2.8 x5 B 47164 3.1 33,217 2.2 A 29.6
3. 4% 31 8 691 0.0 598 0.0 A 135
% H & 1,501,752 100.0 1,485,337 100.0 A 11
(Efz - TH. %)
@ EFAINE (FiaA)
5 5 SHTTEE SHEE
s | ik cEm | #mmk | e
S * 140,000 91.0 147,000 914 5.0
2. H & 13,900 9.0 13,900 8.6 0.0
3.8 il 0 0.0 0 0.0 -
i A & 153,900  100.0 160,900 100.0 45
T2 & o B 424,449 736 637,085 80.2 50.1
2. x OE B B 152,476 26.4 157,556 19.8 3.3
% H & 576,925  100.0 794,641 100.0 37.7
(B KEEREEEE (Efz - TH. %)
5) TKAKESFHSHRE
@ A HIIN (FiaA)
£ g SHITTEE SR E
s EmE | #Eik cEf | #ak | dEEn
1.8 F3 Iy 1,715,665 62.6 1,731,500 629 09
2% % 5 X 1,022,255 37.3 1,022,830 37.1 0.1
3. 4% 3 7 980 0.0 557 0.0 A 432
I A & 2,738,900  100.0 2754887 100.0 06
1 E ™ % 2403525 93.1 2296,727 919 A 44
2.8 x5 % 178,136 6.9 203,328 8.1 14.1
3. 4% l 8 469 0.0 298 0.0 A 365
% H & 2582,130  100.0 2500,353 100.0 A 32
(Bfz : TH. %)
@ E AN (Fiad)
X 5 SR SR
REHE | BEk cEf | #EHa | AR
T & % & 706,100 56.8 878,600 57.2 244
2. 14 Bh & 417,163 33.6 547,193 35.6 31.2
3 & H OH OB % 110,728 8.9 109,534 71 A1
4. & 1 & 7,432 0.6 0 00 A 1000
5. 4 | & 1,068 0.1 635 0.0 A 405
6T = & # % - - - _ N
7Kk %k b B fF F £ I A 62 0.0 22 0.0 A 645
8. 15 & - - - - -
9. 8 & 0 0.0 0 0.0 -
Y A & =t 1042553 100.0 1,535,084 100.0 23.6
T2 % © B £ 1,156,926 53.9 1,492,926 60.6 29.0
2 %X & @B OB % 990,705 46.1 968,927 39.4 A 22
3Kk %k 1t B H =T 2 B 62 0.0 22 0.0 A 645
4. 3§ B & 0 0.0 0 0.0 -
% H & £t 2147693  100.0 2461875 100.0 146
“(ER) KEEEEER 141 (EfZ: TH. %)



3.7F W &

1) Zl2h - BEFSABRBEN

(BEER)
BA () EA - HE ()
F K &% (M)
Gil%) GikA B2 GikA
284 7 6, 920 12 5 107,113, 322
29 13 16,018 11 4 216, 224,122
30 9 26,189 11 6 341, 230, 800
SHTE 11 41,445 9 4 784, 953, 200
2 16 52,948 13 6 1, 175, 749, 800

(BH) BN B=HEER CEREBEER

E) FHBFELY 52 S MBI 5 RILAFREERRA
F) FMIGT2OOERERESNTVDILDHLELEHOHHF—HLELEA,

2) &0 ER

(HH2EEH)
FH & DEER e () &% (M)

o 52, 984 1,175, 749, 800
FETCXEFE(FECESRBL) 9,872 227,187, 000
KEBETEDELDICYFE(FE I YHERSHET) 1,763 40, 551, 000
FOF - XREEX (FOF - XERERESHET) 569 15, 031, 000
BEIREAFERIREX (GEIREAFERERESHET) 1,143 28, 849, 000
AR—=YIREEE (A R—VIREEGEIT) 911 22, 474, 000
HEBUEEEE (MR UFXHEESTET) 1,829 44, 555, 000
EEREEX (REREELSET) 2,699 61, 344, 000
mHlfEfTO0 A ERRREE 338 8, 044, 000
eEHTREIEET T 7EE 2, 754 71, 866, 000
RO DS HRFEEEE 4, 987 87, 747, 900
mRIZEEME 26, 119 568, 100, 900

(BH) MBEHMB=HHER CEREIBEER
3) FELDHEFHEXADTM
(BFEEH)
BA () EA R ()
F K &% (M)
Gil%) GikA B2 ik
284 1 - 9 - 1, 400, 000
29 1 - 8 - 660, 000
30 1 1 10 - 1, 349, 400
SHTE 1 - 10 - 890, 000
2 1 - 8 - 1, 380, 000

(BH) MEFER 7= M BGR

—142-



